Page 1/ 1 EXERCICES DE REVISIONS MATH - Classe de 6°

Exercice 1

Cocher les bonnes réponses :
34 est divisible : L] par 2 Ul par 3 L] par 5 Ul par 9 U] par 10
666 est divisible : (] par 2 [l par 3 (] par 5 [l par 9 (] par 10
295 est divisible : L] par 2 Ll par 3 L] par 5 Ul par 9 U] par 10
96 est divisible : (] par 2 [l par 3 (] par 5 [l par 9 0] par 10
310 est divisible : L] par 2 Ul par 3 L] par 5 Ul par 9 U] par 10

Exercice 2

Cocher les bonnes réponses :
250 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10
162 est divisible : L] par 2 Ll par 3 L] par 5 Ll par 9 0] par 10
196 est divisible : ] par 2 O] par 3 (] par 5 (] par 9 0] par 10
440 est divisible : L] par 2 Ll par 3 L] par 5 Ll par 9 0] par 10
459 est divisible : (] par 2 O par 3 ] par 5 O par 9 0] par 10

Exercice 3

Cocher les bonnes réponses :
340 est divisible : 0] par 2 [l par 3 (] par 5 [l par 9 0] par 10
160 est divisible : L] par 2 Ll par 3 L] par 5 Ul par 9 U par 10
297 est divisible : (] par 2 [l par 3 (] par 5 [l par 9 0] par 10
405 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10
126 est divisible : L] par 2 [l par 3 L] par 5 [l par 9 0] par 10

Exercice 4

Cocher les bonnes réponses :
78 est divisible : L] par 2 Ll par 3 L] par 5 Ll par 9 U] par 10
32 est divisible : (] par 2 [l par 3 (] par 5 [l par 9 0] par 10
396 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10
550 est divisible : L] par 2 [l par 3 L] par 5 [l par 9 0] par 10
130 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10

Exercice 5

Cocher les bonnes réponses :
425 est divisible : 0] par 2 [l par 3 (] par 5 [l par 9 0] par 10
66 est divisible : L] par 2 Ll par 3 L] par 5 U par 9 U par 10
980 est divisible : (] par 2 [l par 3 (] par 5 [l par 9 0] par 10
63 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10
207 est divisible : L] par 2 [l par 3 L] par 5 [l par 9 0] par 10

Exercice 6

Cocher les bonnes réponses :
210 est divisible : L] par 2 Ll par 3 L] par 5 Ul par 9 U] par 10
540 est divisible : (] par 2 [l par 3 L] par 5 [l par 9 0] par 10
110 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10
740 est divisible : 0] par 2 [l par 3 0] par 5 [l par 9 0] par 10
475 est divisible : O par 2 O par 3 O par 5 O par 9 O par 10
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